Excel2016 =ff 2

STEP 3. INDEX R8%i& MATCH B & > - RIG=R

1. RERABLEL&D

IL' B, G 0 z F G Jr 1L [RROES] O
| NDEXEMATCHRI DS [Sheet3] ZBISET.
2 (31 B [S(m [&at =
3 1L A a5 120] 10,200
4 2 |E A, 62 30| 1.860
5 3lFd 34 250| 8500
6 Al + 150 go| 12.000
7 B[S 43 340| 14620
8 6| 2177 78 goo| 62.400
9 71402 54| 2000162000
10
11 1F¥3__ OBHELG
12 24D OE#iELO
13 )
14
15 %o 1 o 3 4 5
16 VAZ | d&+iA | AF3 | 240 | A0
17 1 B 120 30 250 800| 3,000
18 o | EHE 100 40 200 750| 2800
2. &)U [F11] (C. INDEX B8#i& MATCH BB\, 1
FIANOEEERRLEL &£D
A B C D E F G H J
1 INDEXSMATCHR B D 875
EA S ==X i T =
3 1L A a5 120] 10,200
4 2 |E A, 62 so] 1860
5 3lFd 34 250| 8500 J— P11 | %
; p T I 0 M o rFug mmrLEs.
7 B[S 43 340| 14620] /
8 6| 2177 78 goo| 62.400
9 71402 54| 3.000[162 00/
10
11 171 OEHELG
12 24D OE#iELO
13 )
14
15 %o 1 o 3 4 5
16 VAZ | d&+iA | AF3 | 240 | A0
17 1 B 120 30 250 800| 3,000
18 2 | EEE 100 40 200 7E0|  2.800

_‘]2_



Excel2016 =ff 2

[H] =01 v DI LET,

Tl h-h HA RS LAFOR 55 mE == AT Q EELETH
>A-tsum ~  [Bgm- =, SenoEs - posmror -2 B
I8 sireormss - |0 xFhuasE - . SEEEEQH-R Y

ESE )

#A B~ O B/ ~ s éﬂ%’" =

= DEams- | e (@R THN) £ v I LE

BBE5173) EESHE
CHOOSE
F11 & f COLUMN
| | | | | |
1 INDEXEMATCHRFR (M FoRHAT=T n
oy | "
2 =4 Y — [INDEX] %D Jw DL ET.
3 1WAZ a5
4 2|Ah A 62
5 3|4Fd 34
6 4l 5+ 150
7 5|35 43 INDIRECT
8 6|2 -17 78 LOOKUP
10 B
11 B e i ATy A S OFFsE
FIMO=R 7 (&3, 1T&ES. JIBES] NE
INDEX RenNTWBdCEE=ERL. [0
S THEATEIISERRL TURE
BIER(A): K] Z20JwDILET.
. i x v £ -nobars B wic rrsFe) AnLET,
|

A | B o} b |/ E F G | ) B
1] INDEX&MATCHBE D M7 S55tOIL [F3) ~ [F9] & RS
2 |31 A wILEL £
3 LlLL L. = (=1 1200 1 menn |
4 | Bz0slz ? X
5 | mnpex
6- | 4+ | = {10200;1860;8500;12000;14620;€ |
;— FES | = fE
9| FIES 2| - =uE
10 | _
11 | BTN E T HIE B SEEELET ﬂ FEESOREI JvILET
12| BF [l EEERER S EELEY. : I
13
1: TES(E MATCH BBIAE>TA
o] R ALEL £,
17 | COEEQALT(H) i
18 | 2 | BEE 100 40 200 750 2,300
10 ' —+—r r = 4 r = 4

_’]3_



Excel2016 =ff 2

v Z20 v ILET,

11| NS R T A B A EE R LSRR ET.

AL H—h A ~= A7k @ T4 s F=r ~ILS Q@ EELETH

h 2 F—FSuM ~
RE5IS{ 5 EEENLE J—hz—

INDEX X « f | =INDEX(F3:F9)

[DEx C D E F G H J

MATCH L~ |

== EXCMATCHRIE D 178

= B |2l [&Et

IFERROR 4 = A=A E [MATCH] =D )w DL X,

COUNTIF . _—

DATE MATCH R8% 3

WEEKDAY ECHI| |F3:F9 * | = {10200;1860; L DB%;Q%{@D_C _[-/I/ai J 2

- — ] - s 1TBESZKOEL £D.

SECOND nEs +| - e

T mithmE... _

MATCH D BB
CENHDZEL

£ —y{KIFB:FQ.MATCH(Cll,CB:m REfBIc [C11] ZADLET.
|
E F

- i C11 ) w 5.

l_ Fﬁ;&@}(ﬁ%ﬂ [ 1 Z20)wILEL &D

2 | ¥ /Sl |&%

3_ =25 120 10200

4| E

51 marex REEHEIC [C3:C9] ZANDL L

3_ = [=8 + _ oz ER

1 emEE | ca:co 2| = (DRTHIAT '

g = [ * -0 )L [C3] ~ [C9] Z RSV

10 | - = LEL &£D.

11| SrenrmeomAciEsT REEEL. BEE—HTIER0. EFINTORE

| PEUET ] |

13 BAOEE (02 1.0, 204 1 F RENDERIC 0] = ANDLET.
i EfLIT.

14

15— [OK] ZD)wDILET,

16 | FHOEZE = 8,500

17 | zomsonLT(H Footl

18_ I o [ Iy = = | (A =T | ] Fne ] |

19 2] *Fm | 70l 0l 180l 700l 2100

_14_



Excel2016 =ff 2

F11 - I =INDEX(F3:F8,MATCH(C11,C3:C%,0))
A B C D E F G H J
1 INDEXSMATCHRIE b 387
2 1 @ (&8l |&3
3 1WA 85 120] 10200
4 2 |Hh A 62 30| 1,860
5 a3l1¥d 34 260| 8500l TFIDSED
6 A+ 150 80| 12000)) =g:an=L
7 5laES 43 340| 14620f _
8 6|21 78 800| 62,400 2
9 7AO 54| 3.000[162,000] N
10
1 173 OEHILLS
12 2474 O EFLL <D
13 D O EHFL<S
14
15 %o 1 2 3 4 5
16 VAC | &AL T | 2440 | AQL
17 1 E 120 30 250 800| 3,000

TRA 2D wacH BT S 551E8T 3
=|INDEX (F3:F9, MATCH(C11, C3:C9, 0))

— _/
Y
- [F ) Qs = 3 -
—

=INDEX(F3:F9, 3) = 8500

_‘]5_



Excel2016 =ff 2

fR-25-RI-280

B )l [F12] 2 R1DATHDEE% INDEX BEIE MATCH B#IZ (BRI L EL £ D.
B 7))L [F13] [Z. &1 DSEDDEH% INDEX B8EIE MATCH BB Z R \RRLEL £ D.

A B C D E F G H J
1 INDEXSMATCHEIER D 38 E
CNEA (3 == I =
3 1WA 85| 120] 10200
4 2| As 62 30| 1,860
5 3|l1Fd 34|  250] 8500
6 41T 150 80| 12,000
7 5l3ED 43| 340] 14620
8 8|2 AH 78| 800| 62,400
9 TAT 54| 3,000]162,000
10
- A1Fd  OEEELGS 8500
- 2470 OEFEEND 78
13 D DL LS 340
14
15 %2 1 2 3 4 5
16 WAC | BdrA | AFT | 244 | AR
17 1| BHm 120 30| 250  800| 3,000
18 2 | BHE 100 40| 200 750 2,800
19 3 | Kk 70 50| 180  700| 3,100
e b

A B C D E F
1 INDEXé-
CNEA 153k == i ==
3 1 A |BD 120 |=D3*E3
4 2 Hhn A, |62 30 =D4+E4
5 3 JF |34 250 |-DB+ED
6 4 i+ |50 [80  |-DB+#EB
7 5 ks |48 340 |[=DT+E]
8 6 2 1h |18 800 |FDB+ES
9 7 A0 o4 3000 |=DI+E9
10
11 ¥ AL =INDEX(F3:Fg MATCH(CT11.C3.09,07)
12 24h DA =INDEX(D3:09 MATCH(C12,C3:.C9,0))
13 nFS o Bl =INDEX(ES:ES MATCHICT13,C3:C9,0))
14
15 =0 1 2 3 4
16 WA | hA AF3
17 1 mer (120 [30 250 8
18 2 & [100 |40 [200 75

_‘]6_



Excel2016 =ff 2

3. )L [G22] |[c. INDEX E§¥1& MATCH B %& B, ). 3
SEOHIDDEZRTLEL £D
A B C D E = G S .
12 211 O EFFL LD 78 DYINIEBILMATCH BB & {E > Tk
13 SED DBl LGS 340 HEL £,
14
15 %5 1 2 3 4 5
16 LAZ | &AL 7FT | 240 | A
17 1| == 120 30]  250]  600| 3000 .
18 7 | &R 100 40]  200] 7500/ 2.800 T 1G22] Z&RL X
19 3| KR 70 50]  180]  700{ 3.00 7,
20 4| 1EH 150 60] 170] 60| 2700
21
22 ZEE O HhA HLG
2 B8 0 21 @Ede
2 S O AT L
25

B\ 220w ILET.

Tl h-h  HA R-ILAFIb 74 wE = AT Q @aLEh
fx Si-tsum ~ [Hzmm- Besin-|| | =, Gawors - | Pesmmoi-z H
g B EEEES - | sepieE - KDRESS L R SESBEDH -2 1
B B 18 E/e ~ s 2 o L

el s —”“F (&R, 351 50w ILE

5475 E&EsE
CHOOSE §_

G22 = Fe COLUMN
11 AF3 MEEHd TORMULATEXT
12 2418 N EESE ™ | .' [NDEX) =T w IL &I
13 BED D E (i
14
15 |20 1 4 b
16 WA 244 | A0
17 1 BEx 120 INDIRECT 200 3,000
18 2| BEE 100 LOOKUP 750 2,800
19 3 N 10 MATCH 700 3,100
i? 4 12 [T 150 — Go0] 2,700
SIAOER 7 (B3I, 1T&BS. JBE S| N'E
— RencT\hdZE&z=ERL. [0
BETEATAIEERRL TR,

Gk (ENE

Kl &2 )vILZET.

_’]7_



Excel2016 =ff 2

&cyl(C [D17:H20] ZADLF

G229 - *x « & | =INDEK(D17:H20)
g_o

| A | B C | D | E F G . . . |
11 473 o&sHZ<s | 8500
12 2 O EBAL <O 78 )L [D17] ~ [H20] & RS v
13 R " - , ~
2 (325 os@d<s 340] FLEL £5.
15 ¢
lET INDEX
l_f? BCH +| = {120,30,250,800,3000;100,40,200 -
18 sES t) - o '
19 SIES oy T
3‘1’ - ﬂ FEsonREI v ILET.
= BN SR B R ET R T OS B RELET. . T
- BRIl (it EEE RS ELET. B
o 1T7ES(3 MATCH BB &fE>TA
25 ALFEL £D.
2 HEOES -
27| zomsonLTH ol
28 ] i

Jrl m—h HEA R=Z LAFIR =l W=
= ] w
h > A—FsuM ~ JwILZET.
B3 EEcEa I—hz—

INDEX Q x v K =INDEX(D17:H20)

INDEX c 5 c - . ) }
g L= | | :

= AFd | SEEL<s | 8500

= AT oS LD 75 E [MATCH] Z=7 1) w2 L&,
e B3 ED @ﬁ{ﬁ[;u@g 340
COUNTIF ? b4

DATE
WEEKDAY Egh| |D17:H20 * | = {120,30,250,800,3000;100,40,200
TIME o A
SECOND

FIES *| = HE

TOihoE...

')11 =

_18_



Excel2016 =ff 2

692 - x « £ | =IND XEDlT:H:EO,MATCH(CZE,tm REEIC [C22] ZATLFT.
|
MATCH o@® §§ b /E F 029 | -
ll (:Eh@ib @%E_I_[%L\<6 8,500 |— J %9 JJOL/&L/J:DO
12 o EE(EL <D 78
13 ¢ ML <S 340
T A - - - - : :
5 / BEEEIC [C17:C20] EAT
16| LEJd.
17 t| - gEE .
14 t] - rEmeEE _
3 =l )L [C17) ~ [C20] & RS w
20) . TLEL &,
3; ngg:?ﬁ%ﬂ)ﬁ[:ﬁﬂt EERENERL. REE—HT3ER0. BHIATOENNMIEIE T SE | |
23 ) _ BENBAICTOlI = ADLET.
] BEOES (2 1. 0. Tkl -1 OREOUTIHEEEL. 8
24 2ELET.
25
;? HAOESE = INDEX(D17:H20,MATCH(C22,C17:C20,0))
28| LOBHONLT(H v

HIN/N—D [INDEX] Z= D) w D

TN Kb BA A-TLAPIL Bk -5 #m LXT.
h > A-ksSum ~ =
; INDEX BEBEIDANICRERDEL &
BS54 75 RSN e
G272 - X v kK =|@>¢[D1?:H20,MATCH(czz,cu;czn,u])
A B C D | E F G H | J
11 4Fd D-EEHEL LA 8,500
12 24H O EEFHFL (D 78
13 R D BmILL < 340
40 . :
i E= = X
15
15_ MATCH
17 BEE |c22 t| - gEE
lSE HEEEE | C17:C20 4| = {EREEEAREETY
19 BEOEE 0 * -0
20
4 = 2
21

_’]9_



Excel2016 =ff 2

Q22 - x ¥ Kk =INDEX(D17:H20,MATCH(C22,C17:C20,0))

W INDEX DEE AD . <E F G H | J
2 — 7 M55 [;ttn ! 8,600
| FEPOEL M Emiano 78

:wﬁ{ﬁ[;u% 340

>

EfR| |(D17:H20 {120,30,250,800,3000;100,40,...

,_.

o |
|
I

I
Il
ra

18 7ES |MATCH(C22,C17:C20,0)
19 5IES

|
|
T

= INDEX(D17:H20,MATCH(C22,...

23 A e e “m BESONRED v I LET.

24 i

26 HMEE = INDEX(D17:H20,MATCH(C22,C17:C20,0)) SIESE MATCH BEIEE>TA
27| zommon A [ nLzxLs>.

Tl b A R-TLATFON R 74 B %m s
= |
fr > A-ksum ~ v %7 JJ’Jbif?
BT EESNLEE I—3—

match © ¢ x v & | =INDEX(D17:H20,MATCH(C22,C17:C20,0))

MATCH

o C D | E F G H | 1 | 1
FS AFd  |[DFEELCS 8,500

= ATA) BRI v 78 [MATCH] Z=2D1)w DL ET.
rerror  IRED D EBIZLCH 340

COUNTIF 7 X

DATE

WEEKDAY EcH| |D17:H20 * | = {120,30,250,800,3000;100,40,...

TIME TES |MATCH(C22,C17:C20,0) * =2

SECOND

SIS ] - s

TOoE..
5 ﬂ = INDEX(D17:H20,MATCH(C22,...

_20_



Excel2016 =ff 2

T4l m-h  #\BA R=Z LA FIk B 74 mE =x ALS Q fAELESH

h 2 F—FSuM ~ 53

waEic TE22] #ANHLZET.
51 J5 R —
v £ | =INgEx(D17:H20MATCH(C22,0| [E22] ZD1)wDOLEL £D.

G2

MATCH D& B

| o D E F G H | | | J
]_]__. ‘c..ﬁb@ib @%%ﬁlﬂ<6 8500
12 e O AL 2 L2 il sasmEc .
I r &@IC [D16:H16] = AN
13] ™ ozl | 340 [E
14 = LEJd.
15, : '
| MATCH
16 o )L [D16] ~ [H16] % RS
17 1&EE | E22 2 = "B N _
18 ez=zE | D16:H16 2| = CORTUBDAT TLEL £
19| EenEs | o * =0
20
21 _Z
= B 2 =<1 Py pe T eI T e e 1= b == BB [ i0 7 e —
55| S CIIREDERAET RESDEEIC0] AL ET.
23] BAOEE K 1. 0, £l -1 ORBEOVTNAESEL.
24 EELET-
;2@ [OKJ &ZDwoLES. |[—\
27
28| LOBEONLT(H) Footl
G27 = S =INDEX(D17:H20,MATCH(C22,C17:C20,0), MATCH(E22,D16:H16,0))
A | B = | D | E F G H | I | J
11 AF3 OEEHEL S 8,500
12 248 OEEFL<D 78
13 BED D EmFL < 340
14
HE 1 2 3 4 5
16 UAZ | & A | AFd | 2400 | AOv
17 1 BHE 120 30 250 800| 3,000
18 2 | HEE 100 40 200 750| 2,800
19 3| Kb 70 50 180 7000 3,100
20 4 | 18 150 60 170 650| 2700
21
22 EZEE ] Hh A FLGA 40 ZEBRDHIHH N
23| & ) 210 JFLs e —
2| E 0 (73 3L1<s DS e
25 | nxLurz.
26
27|

_2’]_



